

AN INEQUALITY WITH REGARD TO CIRCUMSCRIPTIBLE SIMPLEX

YU-DONG WU AND ZHI-HUA ZHANG

Dedicated to Professor Lu Yang on the occasion of his 71st birthday

ABSTRACT. An n -simplex is circumscribable if there is a sphere tangent to each of its $n(n+1)/2$ edges. We prove that the radius of the circumscribed sphere is at least $\sqrt{\frac{2n}{n-1}}$ times the radius of the edge-tangent sphere in the circumscribable n -simplex. This settles affirmatively a part of a problem posed by the authors.

1. INTRODUCTION AND MAIN RESULTS

Throughout the paper we denote $\{A_0, A_1, \dots, A_n\}$ as the vertex set of an n -dimensional simplex Ω in the n -dimensional Euclidean space \mathbb{E}^n , V as the volume of Ω , and R, r, ℓ as the radius of the circumscribed sphere, the inscribed sphere and the edge-tangent sphere of Ω , respectively.

Every n -simplex has a circumscribed sphere passing through its $n+1$ vertices and an inscribed sphere tangent to each of its $n+1$ faces. An n -simplex is circumscribable if there is a sphere tangent to each of its $n(n+1)/2$ edges. We call this the edge-tangent sphere of the n -simplex. But it is not hard to see that not every n -simplex with $n \geq 3$ can have an edge-tangent sphere. However, the following sufficient and necessary condition for a simplex to have an edge-tangent sphere can be found [6] by Lin and Zhu.

Theorem 1.1. *Supposing the edge lengths of an n -simplex $\Omega = P_0P_1P_2 \cdots P_n$ are $P_iP_j = a_{ij}$ for $0 \leq i < j \leq n$. The n -simplex has an edge-tangent sphere if and only if there exist $x_i > 0$ with $0 \leq i \leq n$ satisfying $a_{ij} = x_i + x_j$ for $0 \leq i < j \leq n$.*

A double inequality for the radius of the circumscribable tetrahedron is proved in [1] and [2] as follows

$$R \geq \sqrt{3}\ell \geq 3r. \tag{1.1}$$

As a generalization of inequality (1.1), Wu and Zhang [2] posed an analogous conjecture for the circumscribable n -simplex.

Conjecture 1.1. *In circumscribable n -simplex Ω , prove or disprove that*

$$R \geq \sqrt{\frac{2n}{n-1}}\ell \geq nr. \tag{1.2}$$

Date: October 5, 2007.

2000 Mathematics Subject Classification. 52A40.

Key words and phrases. inequality, circumscribable n -simplex, edge-tangent sphere.

The authors would like to thank Professor Lu Yang for his enthusiastic help.

Recently, Wu and Zhang [3] solved the right hand of inequality (1.2). In this paper, we will settle the left hand of inequality (1.2) affirmatively and obtain the following result.

Theorem 1.2. *For circumscribable n -simplex Ω , we have*

$$R^2 \geq \frac{2n}{n-1} \ell^2. \quad (1.3)$$

2. PRELIMINARY RESULTS

In order to prove Theorem 1.2, we require several lemmas. Throughout this section, let x_i for $0 \leq i \leq n$ be defined by Theorem 1.1, and

$$A = \begin{pmatrix} -2x_0^2 & 2x_1x_0 & 2x_2x_0 & \cdots & 2x_nx_0 \\ 2x_0x_1 & -2x_1^2 & 2x_2x_1 & \cdots & 2x_nx_1 \\ 2x_0x_2 & 2x_1x_2 & -2x_2^2 & \cdots & 2x_nx_2 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 2x_0x_n & 2x_1x_n & 2x_2x_n & \cdots & -2x_n^2 \end{pmatrix},$$

$$B_1 = \begin{pmatrix} x_0^2 & 1 \\ x_1^2 & 1 \\ x_2^2 & 1 \\ \vdots & \vdots \\ x_n^2 & 1 \end{pmatrix}, B_2 = \begin{pmatrix} 1 & 1 & 1 & \cdots & 1 \\ x_0^2 & x_1^2 & x_2^2 & \cdots & x_n^2 \end{pmatrix},$$

$$D = \begin{pmatrix} 0 & (x_1+x_0)^2 & (x_2+x_0)^2 & \cdots & (x_n+x_0)^2 \\ (x_0+x_1)^2 & 0 & (x_2+x_1)^2 & \cdots & (x_n+x_1)^2 \\ (x_0+x_2)^2 & (x_1+x_2)^2 & 0 & \cdots & (x_n+x_2)^2 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ (x_0+x_n)^2 & (x_1+x_n)^2 & (x_2+x_n)^2 & \cdots & 0 \end{pmatrix}.$$

and let

$$M = \sum_{i=0}^n x_i, N = \sum_{i=0}^n x_i^2, P = \sum_{i=0}^n \frac{1}{x_i}, Q = \sum_{i=0}^n \frac{1}{x_i^2}.$$

Lemma 2.1. *We have*

$$|A| = (-1)^n (n-1) 2^{2n+1} \left(\prod_{i=0}^n x_i \right)^2, \quad (2.1)$$

and

$$A^{-1} = \begin{pmatrix} \frac{2-n}{4n-4} \cdot \frac{1}{x_0^2} & \frac{1}{4n-4} \cdot \frac{1}{x_1x_0} & \frac{1}{4n-4} \cdot \frac{1}{x_2x_0} & \cdots & \frac{1}{4n-4} \cdot \frac{1}{x_nx_0} \\ \frac{1}{4n-4} \cdot \frac{1}{x_0x_1} & \frac{2-n}{4n-4} \cdot \frac{1}{x_1^2} & \frac{1}{4n-4} \cdot \frac{1}{x_2x_1} & \cdots & \frac{1}{4n-4} \cdot \frac{1}{x_nx_1} \\ \frac{1}{4n-4} \cdot \frac{1}{x_0x_2} & \frac{1}{4n-4} \cdot \frac{1}{x_1x_2} & \frac{2-n}{4n-4} \cdot \frac{1}{x_2^2} & \cdots & \frac{1}{4n-4} \cdot \frac{1}{x_nx_2} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ \frac{1}{4n-4} \cdot \frac{1}{x_0x_n} & \frac{1}{4n-4} \cdot \frac{1}{x_1x_n} & \frac{1}{4n-4} \cdot \frac{1}{x_2x_n} & \cdots & \frac{2-n}{4n-4} \cdot \frac{1}{x_n^2} \end{pmatrix}. \quad (2.2)$$

Proof. It is clear to see that

$$\begin{aligned}
|A| &= 2^{n+1} \left(\prod_{i=0}^n x_i \right)^2 \begin{vmatrix} -1 & 1 & 1 & \cdots & 1 \\ 1 & -1 & 1 & \cdots & 1 \\ 1 & 1 & -1 & \cdots & 1 \\ \vdots & \vdots & \vdots & & \vdots \\ 1 & 1 & 1 & \cdots & -1 \end{vmatrix} \\
&= 2^{n+1} \left(\prod_{i=0}^n x_i \right)^2 \begin{vmatrix} -1 & 1 & 1 & \cdots & 1 \\ 2 & -2 & 0 & \cdots & 0 \\ 2 & 0 & -2 & \cdots & 0 \\ \vdots & \vdots & \vdots & & \vdots \\ 2 & 0 & 0 & \cdots & -2 \end{vmatrix} \\
&= 2^{n+1} \left(\prod_{i=0}^n x_i \right)^2 \begin{vmatrix} n-1 & 1 & 1 & \cdots & 1 \\ 0 & -2 & 0 & \cdots & 0 \\ 0 & 0 & -2 & \cdots & 0 \\ \vdots & \vdots & \vdots & & \vdots \\ 0 & 0 & 0 & \cdots & -2 \end{vmatrix} \\
&= 2^{n+1} \left(\prod_{i=0}^n x_i \right)^2 \cdot (-1)^n (n-1) 2^n \\
&= (-1)^n (n-1) 2^{2n+1} \left(\prod_{i=0}^n x_i \right)^2.
\end{aligned}$$

Let us to compute A^{-1} . We know that the adjoint of A is

$$A^* = \begin{pmatrix} A_{11} & A_{12} & \cdots & A_{1,n+1} \\ A_{21} & A_{22} & \cdots & A_{2,n+1} \\ \vdots & \vdots & & \vdots \\ A_{n+1,1} & A_{n+1,2} & \cdots & A_{n+1,n+1} \end{pmatrix},$$

where A_{ij} is the cofactor of the element $2x_{i-1}x_{j-1}$ ($i \neq j$) or $-2x_{i-1}^2$ ($i = j$) of A .

From the process of computing $|A|$ above, for $0 \leq j \leq n$, it is easily to obtain that

$$A_{jj} = (-1)^{n-1} (n-2) 2^{2n-1} \left(\prod_{\substack{i=0, \\ i \neq j-1}}^n x_i \right)^2.$$

Now, we compute A_{ij} for $0 \leq i \leq j \leq n$ because of $A_{ij} = A_{ji}$ with $A = A'$. That is

$$A_{ij} = (-1)^{i+j} \begin{vmatrix} -2x_0^2 & 2x_1x_0 & \cdots & 2x_{j-2}x_0 & 2x_jx_0 & \cdots & 2x_nx_0 \\ 2x_0x_1 & -2x_1^2 & \cdots & 2x_{j-2}x_1 & 2x_jx_1 & \cdots & 2x_nx_1 \\ \vdots & \vdots & & \vdots & \vdots & & \vdots \\ 2x_0x_{i-2} & 2x_1x_{i-2} & \cdots & 2x_{j-2}x_{i-2} & 2x_jx_{i-2} & \cdots & 2x_nx_{i-2} \\ 2x_0x_i & 2x_1x_i & \cdots & 2x_{j-2}x_i & 2x_jx_i & \cdots & 2x_nx_i \\ \vdots & \vdots & & \vdots & \vdots & & \vdots \\ 2x_0x_n & 2x_1x_n & \cdots & 2x_{j-2}x_n & 2x_jx_n & \cdots & -2x_n^2 \end{vmatrix}$$

$$\begin{aligned}
&= (-1)^{i+j} 2^n \frac{(\prod_{i=0}^n x_i)^2}{x_{i-1} x_{j-1}} \begin{vmatrix} -1 & 1 & 1 & 1 & \cdots & 1 \\ 1 & -1 & 1 & 1 & \cdots & 1 \\ \vdots & \vdots & \ddots & & & \vdots \\ 1 & 1 & & C_1 & & 1 \\ \vdots & \vdots & & & \ddots & \vdots \\ 1 & 1 & 1 & 1 & \cdots & -1 \end{vmatrix} \\
&= (-1)^{i+j} 2^n \frac{(\prod_{i=0}^n x_i)^2}{x_{i-1} x_{j-1}} \begin{vmatrix} -2 & & & & & \\ & -2 & & & & \\ & & \ddots & & & \\ & & & C_2 & & \\ & & & & \ddots & \\ & & & & & -2 \end{vmatrix} \\
&= (-1)^{i+j} 2^n (-2)^{n-(j-i)} |C_2| \frac{(\prod_{i=0}^n x_i)^2}{x_{i-1} x_{j-1}} \\
&= (-1)^{i+j} 2^n (-2)^{n-(j-i)} (-1)^{j-i+1} (-2)^{j-i-1} \frac{(\prod_{i=0}^n x_i)^2}{x_{i-1} x_{j-1}} \\
&= (-1)^{2j+1} 2^n (-2)^{n-1} \frac{(\prod_{i=0}^n x_i)^2}{x_{i-1} x_{j-1}} \\
&= (-1)^n 2^{2n-1} \frac{(\prod_{i=0}^n x_i)^2}{x_{i-1} x_{j-1}},
\end{aligned}$$

where

$$C_1 = \begin{pmatrix} 1 & -2 & 1 & \cdots & 1 \\ 1 & 1 & -2 & \cdots & 1 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 1 & 1 & 1 & \cdots & -2 \\ 1 & 1 & 1 & \cdots & 1 \end{pmatrix}_{(j-i) \times (j-i)},$$

and

$$C_2 = \begin{pmatrix} 0 & -2 & 0 & \cdots & 0 \\ 0 & 0 & -2 & \cdots & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \cdots & -2 \\ 1 & 0 & 0 & \cdots & 0 \end{pmatrix}_{(j-i) \times (j-i)}.$$

Hence,

$$A^{-1} = \frac{1}{|A|} A^* = \begin{pmatrix} \frac{2-n}{4n-4} \cdot \frac{1}{x_0^2} & \frac{1}{4n-4} \cdot \frac{1}{x_1 x_0} & \frac{1}{4n-4} \cdot \frac{1}{x_2 x_0} & \cdots & \frac{1}{4n-4} \cdot \frac{1}{x_n x_0} \\ \frac{1}{4n-4} \cdot \frac{1}{x_0 x_1} & \frac{2-n}{4n-4} \cdot \frac{1}{x_1^2} & \frac{1}{4n-4} \cdot \frac{1}{x_2 x_1} & \cdots & \frac{1}{4n-4} \cdot \frac{1}{x_n x_1} \\ \frac{1}{4n-4} \cdot \frac{1}{x_0 x_2} & \frac{1}{4n-4} \cdot \frac{1}{x_1 x_2} & \frac{2-n}{4n-4} \cdot \frac{1}{x_2^2} & \cdots & \frac{1}{4n-4} \cdot \frac{1}{x_n x_2} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ \frac{1}{4n-4} \cdot \frac{1}{x_0 x_n} & \frac{1}{4n-4} \cdot \frac{1}{x_1 x_n} & \frac{1}{4n-4} \cdot \frac{1}{x_2 x_n} & \cdots & \frac{2-n}{4n-4} \cdot \frac{1}{x_n^2} \end{pmatrix}.$$

□

Lemma 2.2. For $x_i > 0$ with $0 \leq i \leq n$,

$$|D| = (-1)^n \frac{2^{2n-3}}{n-1} \left(\prod_{i=0}^n x_i \right)^2 \cdot \{[MP - (n-1)(n-3)]^2 - [M^2 - (n-1)N][P^2 - (n-1)Q]\}.$$

Proof. It is easily to find that

$$\begin{aligned} \begin{vmatrix} A & B_1 \\ -B_2 & E_2 \end{vmatrix} &= \begin{vmatrix} A & B_1 \\ 0 & E_2 + B_2 A^{-1} B_1 \end{vmatrix} \\ &= |A| \cdot |E_2 + B_2 A^{-1} B_1|, \end{aligned} \quad (2.3)$$

and

$$\begin{aligned} \begin{vmatrix} A & B_1 \\ -B_2 & E_2 \end{vmatrix} &= \begin{vmatrix} A + B_1 B_2 & B_1 \\ 0 & E_2 \end{vmatrix} \\ &= |A + B_1 B_2|, \end{aligned} \quad (2.4)$$

where $E_2 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$.

Using (2.2), we obtain

$$\begin{aligned} &E_2 + B_2 A^{-1} B_1 \\ &= \begin{pmatrix} \frac{1}{4(n-1)} [MP - (n-3)(n-1)] & \frac{1}{4(n-1)} [P^2 - (n-1)Q] \\ \frac{1}{4(n-1)} [M^2 - (n-1)N] & \frac{1}{4(n-1)} [MP - (n-3)(n-1)] \end{pmatrix}. \end{aligned} \quad (2.5)$$

From (2.1) and (2.3)–(2.5), it is deduced that

$$\begin{aligned} |D| &= |A + B_1 B_2| \\ &= |A| \cdot |E_2 + B_2 A^{-1} B_1| \\ &= (-1)^n \frac{2^{2n-3}}{n-1} \left(\prod_{i=0}^n x_i \right)^2 \\ &\quad \cdot \{[MP - (n-1)(n-3)]^2 - [M^2 - (n-1)N][P^2 - (n-1)Q]\}. \end{aligned}$$

□

Lemma 2.3. ([5, Corollary 2, p. 96]) Let $P_i P_j = a_{ij} = x_i + x_j$ with $0 \leq i \leq j \leq n$ be the edge lengths of circumscribable n -simplex Ω . Then

$$(n!)^2 V^2 R^2 = -\det \left(-\frac{1}{2} a_{ij}^2 \right) = \frac{(-1)^n |D|}{2^{n+1}}.$$

Lemma 2.4. ([4, Theorem 4.10, and Theorem 7.2]) For any circumscribable n -simplex Ω , we have

$$P^2 - (n-1)Q > 0, \quad (2.6)$$

and

$$\ell^2 = \frac{2(n-1)}{P^2 - (n-1)Q}.$$

Lemma 2.5. ([6, Corollary 1]) Given a circumscribable n -simplex Ω ,

$$(n!)^2 V^2 \ell^2 = 2^n (n-1) \left(\prod_{i=0}^n x_i \right)^2.$$

Lemma 2.6. *The radius R of the circumscribed sphere of circumscribable n -simplex Ω is given by*

$$\left(\frac{R}{\ell}\right)^2 = \frac{[MP - (n-1)(n-3)]^2 - [M^2 - (n-1)N][P^2 - (n-1)Q]}{16(n-1)^2}, \quad (2.7)$$

and

$$R^2 = \frac{[MP - (n-1)(n-3)]^2 - [M^2 - (n-1)N][P^2 - (n-1)Q]}{8(n-1)[P^2 - (n-1)Q]}.$$

Proof. This follows straightforwardly from Lemmas 2.2–2.5 by standard arguments. \square

3. THE PROOF OF THEOREM 1.2

Proof. If $M = \sum_{i=0}^n x_i$, $N = \sum_{i=0}^n x_i^2$, $P = \sum_{i=0}^n \frac{1}{x_i}$, and $Q = \sum_{i=0}^n \frac{1}{x_i^2}$ with $x_i > 0$ for $0 \leq i \leq n$, by using the well-known power mean inequality and Chuachy inequality, then we have $N \geq \frac{M^2}{n+1}$, $Q \geq \frac{P^2}{n+1}$, and $MP \geq (n+1)^2$. Further considering (2.6) follows that

$$\begin{aligned} & [M^2 - (n-1)N][P^2 - (n-1)Q] \\ & \leq \left[M^2 - \frac{(n-1)}{n+1} M^2 \right] \left[P^2 - \frac{(n-1)}{n+1} P^2 \right] = \frac{4}{(n+1)^2} M^2 P^2. \end{aligned} \quad (3.1)$$

From (3.1), $1 - \frac{4}{(n+1)^2} > 0$ and the function

$$y = \left[1 - \frac{4}{(n+1)^2} \right] \left[x - \frac{(n-3)(n+1)^2}{n+3} \right]^2 - \frac{4(n-1)(n-3)^2}{n+3}$$

is increasing on interval $\left(\frac{(n-3)(n+1)^2}{n+3}, +\infty \right)$, and $MP \geq (n+1)^2 \geq \frac{(n-3)(n+1)^2}{n+3}$ for $n \geq 2$, we obtain

$$\begin{aligned} & [MP - (n-1)(n-3)]^2 - [M^2 - (n-1)N][P^2 - (n-1)Q] \\ & \geq [MP - (n-1)(n-3)]^2 - \frac{4}{(n+1)^2} M^2 P^2 \\ & = \left[1 - \frac{4}{(n+1)^2} \right] \left[MP - \frac{(n-3)(n+1)^2}{n+3} \right]^2 - \frac{4(n-1)(n-3)^2}{n+3} \\ & \geq \left[1 - \frac{4}{(n+1)^2} \right] \left[(n+1)^2 - \frac{(n-3)(n+1)^2}{n+3} \right]^2 - \frac{4(n-1)(n-3)^2}{n+3} \\ & = 32n(n-1). \end{aligned} \quad (3.2)$$

According to (2.7) and (3.2), we get

$$\left(\frac{R}{\ell}\right)^2 \geq \frac{32n(n-1)}{16(n-1)^2} = \frac{2n}{n-1}.$$

It is clear to show that inequality (1.3) holds.

Thus, the proof of Theorem 1.2 is completed. \square

REFERENCES

- [1] Z.-Ch. Lin and H.-F. Zhu, *Research in the Tangent Sphere of the Edge in the Tetrahedron*. Geometric Inequalities in China. Jiangsu Educational Press, Jiangsu Province, China, 1996, 175–187. (in Chinese)
- [2] Y.-D. Wu and Zh.-H. Zhang, *The Edge-Tangent Sphere of a Circumscribable Tetrahedron*, Forum Geometricorum. **7**(2007), 19–24. Available online at <http://forumgeom.fau.edu/FG2007volume7/FG200703index.html>
- [3] Y.-D. Wu and Zh.-H. Zhang, *The Edge-Tangent Sphere of a Circumscribable n -Simplex*, RGMIA Research Report Collection, **10**(3), Article 9, 2007. Available online at <http://rgmia.vu.edu.au/v10n3.html>
- [4] M. Hajja, *Coincidences of Centers of Edge-Incentric, or Balloon, Simplices*, Results in Mathematics. **49**(2006), 237–263.
- [5] W.-X. Shen, *Introduction to Simplex*. Hunan Normal University Press, Changsha, Hunan Province, China, 2000, 96. (in Chinese)
- [6] Z.-Ch. Lin, *The Tangent Sphere of the Edge in n -dimension Simplex*, Mathematics in Practice and Theory. **4**(1995), 90–93. (in Chinese)

(Y.-D. Wu) XINCHANG HIGH SCHOOL, SHAOXING CITY, ZHEJIANG PROVINCE, 312500, P. R. CHINA.

E-mail address: zjxcwyd@tom.com

(Zh.-H. Zhang) ZIXING EDUCATIONAL RESEARCH SECTION, CHENZHOU CITY, HUNAN PROVINCE, 423400, P. R. CHINA.

E-mail address: zxzh1234@163.com